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Section A: 14 marks (2 marks each)

~ Choose the correct answer and write its number in the brackets

provided.

1 6 twos =

(1) 8
(2) 10
(3) 12
(4) 14 ( )

2 S groups of 4 is the same as

(1) 4+4+4+4+4
(2) 5+5+5+54+5
(3) 4x4x4x4x4
(4) 5x5x5x5 ( )

3 Divide 25 by 5.

(1) 5

2) 10

(3) 20

(4) 30 ( )




12 apples can be divided equally into
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(1) 3 groupsof 3
(2) 3 groups of 4
(3) 2 groupsof 3
(4) 2 groups of 4 ( )

32 stickers are shared equally among 4 children.

Each child received_ _ stickers.

(1) 6

2 7

(3) 8

4 9 ( )

When a number is divided by 10, the answer is 1. What is
that number?

(1) 1
2) 10

3) 100 .

4 1000 o )

A cat has 4 legs. How many legs do 6 cats have?

(1) 20

(2) 22

(3) 24

(4) 26 ( )




Section B: 14 marks (2 marks each) _
Work out the following sums and write the answers in the
spaces provided. :

8 What is the missing number in the blank?

4.8, 16,20

Ans:

9  Multiply 3 by 5.

Ans:

10 Circle the cupcakes to show 4 groups of 7.
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Write a division equation in the spaces provided to show the
number of pairs of shoes shown below.
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Shade the rectangles that have the same answer.

3+3+3 J 3 groups of 4

4+4+4 | 4x4

13 What is the missing number in the blank?
S5x6= tens
Ans:
14 | am thinking of a 2-digit number.

When | divide the number by 3, | get 8.
What number do | get if | divide this 2-digit number by 4?

Ans:




Section C: 12 marks (4 marks each)

Do the following sums. Show your workings and number

equations clearly.

15  Marcus shared 35 marbles equally amongst 5 boys. How
many marbles did each boy get?

Each boy got marbles.

16 Nina bought 9 pots of flowers. There were 5 flowers in each
pot. '

(@) How many flowers did Nina buy altogether?

Nina bought __flowers altogether.

(b) After a week, all the flowers in 1 pot died.
How many flowers had Nina left?

Nina had flowers left.




17 “Jana bought 4 bags of oranges.
There were 10 oranges in each bag.

(@) How many oranges did Jana buy altogether?

Jana bought oranges altogether.

(b) Jana gave the oranges equally to 5 friends.
How many oranges did each friend get?

Each friend got oranges.

END OF PAPER

Please check your work carefully.
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